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* Please check that this question paper contains 15 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

* Please check that this question paper contains 31 questions,
* Please write down the Serial Number of the question before attempting it,

* 15 minutes time has been alloned to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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General Instructions :
it} Al questions are compulsory,

(i} The question paper consists of 31 questions divided into four
sections — A, B, C and D,

(i) Section A comains 4 guestions of 1 mark each, Section B contains
6 questions of 2 marks each, Section C contains 10 questions af 3
marks each and Section D contains 11 questions of 4 marks each.

fiv) Use of calculators is not permirted.
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Question numbers | to 4 carry | mark each.

1. smEfd 18, PA AW PB, 33 O 7@ 37 &1 teht ol Y@l # f5 £APB = S0° %, W

ZOAB =1 °r feafiam | A
p< \{:-
E-
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in Fig. 1, PA and PB are tangents to the circle with centre O such that
ZAPB = 50°, Write the measure of ZOAB.

Figure 1

3 of2 x=—%+ﬁﬂ'ﬁr‘ﬂlﬁm 1+ Vo —3 =) F1UF 7 B, A kT AH TA FA |

If 'I=-ll’ is a solution of the quadratic equation 3x* +2kx—3=0, find the

value of k.

3. TEEE WSS, x q91 y S At 2 HE ferem, = TrEl =1 e =] @
¥ - Taig WOEEY: 30° A1 60° 3 oy A A x ; y FIE A

The tops of two towers of height x and y, standing on level ground, subtend
angles of 30° and 60° respectively at the centre of the line joining their feet, then
find x : ».

4, il Evien & wer B @ grgmed U e A T | MR gw i T
TR ST U s € |

A letter of English alphabet is chosen at random. Determine the probability that
the chosen letter is a consonant.

30113 3 [P.T.0.
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Question numbers 5 to 10 carry 2 marks each,

4. ﬁiiﬂméqa%qmmﬁgTﬁ,aamWﬂWTPammﬁnﬁlha
Fifem & OT, tamave PQ %1 s wufta=s & |

From a point T outside a circle of centre O, tangents TP and T'Q) are drawn to the' l
circle. Prove that OT is the right bisector of line segment PO,

6. EHIH ATt 6, 13, 20, -, 216 %1 %A 72 3 e |
Find the middle term of the A P. 6, 13, 20, —. 215,

. HEFH 27, AB ¥z O 9% 9% = =W R aw AT st 2| 76 £AOQ = 58° &
M LATQ W Fifsu |

3113 4

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

In Fig. 2, AB is the diameter of a circle with centre O and AT is a tangent. If
LA00Q = 58°, find ZATQ.

B
0
Q
A F
Figure 2

8. ufi A(5,2), B(2,-2) 791 C(-2,) U= gu=m Fga o vftd & ot 2B =90° %, 1«
1 T A It |

If A(5,2), B(2,-2) and C(-2,) are the vertices of a right angled triangle with
ZB =90°, then find the value of 1.

9, E‘angmmmwfﬂf'{d uJﬁg ﬁ[ ]m B(2,-5) =i famm
T TATEE 1 [FaThaa A E |
le:lll:u: ratio in which the point P [% ‘J_J divides the line segment joining the

points A[-;r E] and B(2,-5).

10. = T wdim = 1 F for wm i
9% —6b*x—(a* -b*)=0
Solve the following quadratic equation for x ;
9x* —fb?x—(a* b)) =10

30173 5 [P.T.O.
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Question numbers 11 to 20 carry 3 marks each.

11, ¥ 38, AO = OB 2 791 APB 791 AQO #dg= # | 7f sl =1 wiwm 40 291

%ﬁmﬁammﬁmm#ﬁm[n:%?ﬁmj

Q

HF 3
In Fig. 3, APB and AQO are semicircles, and AQ = OB. If the perimeter of the

figure is 40 cm, find the area of the shaded region. [Use T =¥]

Q

Figure 3
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12, U 3 w1 faen, 9 TE W et gam B oo s W R
A 9 free 3.5 090 2 9o = R W A A e ]ﬁfi% o St ) el
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A solid wooden toy is in the form of a hemisphere surmounted by a cone of same
radius. The radius of hemisphere is 3.5 cm and the total wood used in the making

of toy is Iﬁﬁ% cm”, Find the height of the toy. Also, find the cost of painting the-

' 22]
hemispherical part of the toy at the rate of T 10 per cm?, | Usen =TJ

13, g 4 1, 12 & S F v 2w v, T sman & fsm o B 8, % Il wam
#, AT 5 T w0 4 S S e v w1 e | i s 3 e

TH STFA T | [:=2—$w ﬁ:z.zsﬁ@ﬁhﬂ
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In Fig. 4, from the top of a solid cone of height 12 cm and base radius 6 cm, a
cone of height 4 cm is removed by a plane parallel to the base. Find the total

surface area of the remaining solid. [Us: R= % and 5 = 2,3315]

-

den
¥

12 cm

— 5 cm—>»
Figure 4

14, wrEf 5 #, ol F v S wenaR s, e e 15 3 10 390 < 5 A
£ H 8 7 Eft ST ST U AEET e w1 W R o T | I w3

i e A | = 2 e
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In Fig. 5, from a cuboidal solid metallic hlock, of dimensions
15 cm = 10 cm = 5 cm, a cylindrical hole of diameter 7 cm is drilled out. Find

the surface area of the remaining block. [Llse a -_-2?-?]

A

5cm

¥

7

15. ﬁm%wﬁgﬁﬁm#&mmmmmﬁaﬂtm%wﬁgﬁ
m%ﬁmmmaﬁquﬂimﬁrﬁmmﬂﬁﬁ.a‘rmﬂhﬁm
Fifan |

The angle of elevation of the fop of a building from the foot of the tower is 30°
and the angle of elevation of the top of the tower from the foot of the building is
45°. If the tower is 30 m high. find the height of the building,

313 9 [P.T.O:
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Ik |

In Fig. 6, find the area of the shaded region [Use m = 3,14 *

313

10
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17. ko 9% S o A whifeny, Forerer fere famm s oe? +1-20k = 1jx + 5% =0
% el W9 B | 31 T & ge ot 3 i )
Find that non-zero value of %k for which the quadratic equation

el +1-2(k-1)x+x*=0 has equal roots. Hence find the roots of the

equation.

18, TS A # g 8 ® weft o o F wen ae e Reomy ) i ouwi w0 s
v e F AR, 39 | aEeem vF v e w0 | wiwa g it e
TN e
(i) ST EF R
(i) TEET S T
(iii) Fai = wm B
All red face cards are removed from a pack of playing cards. The remaining

cards were well shuffled and then a card is drawn at random from them. Find the
probability that the drawn card is

(i) ared card

(ii) a face card

(iii) a card of clubs

19, TF g POR 1 v yia shifw e Q(3,2) & @ Q A di oM ATt A
F ye-famg (2-1) 991 (1,2) 21

Find the arca of the triangle PQR with Q(3,2) and the mid-points of the sides
through Q being (2,-1) and (1,2).

20, U WHEL SE F w9W 4 06 F AW 5, R A Sy R Sy, =35, - 5]
If 5, denotes the sum of first n terms of an AP, prove that 53, =3[55 - 5;p]

V13 11 [P.T.O.
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Section D
WA U 21 ® 31 0% Tl T % 4 3 3 |
Question numbers 21 to 31 carry 4 marks each.

21. o il 5 g % foret fig v el vd oot o o Rig @ 9 et s o
B R

Prove that the tangent at any point of a circle is perpendicular to thc-mdius
through the point of contact.

22. W 74, 0 F=3 At 99 W A fig P & & vl vard PO A PR ¥ wEn wi
T 8 R ZRPO = 30° ) S RS T T PO ¥ Ewiw T 2 ZRQS 7w

Fifam |
NP s, =

30"

Q
HFf 7

In Fig. 7, tangents PQ) and PR are drawn from an external point P to a circle with
centre O, such that ZRPQ) = 30°. A chord RS is drawn parallel to the tangent PQ).
Find £RQS.

‘r

o*

Figure 7
30173 12
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23, wft % us g P& w divm & fima =1 7EEm w0 30° @ w0 AN W SO0
ersarE 3% fran =1 390w 60° & | 9fE waeeve ) WA 5t # 9t fiean ) =
T I |

From a point P on the ground the angle of elevation of the top of a tower 15 30°
and that of the top of a flag staff fixed on the top of the tower, is 60°, If the
length of the flag staff is 5 m, find the height of the tower.

4. TAFE F AWM Y 12 TWE F TvEm, A 29w e d W91 & fi 2500 5 #
ATTEFAT S | 394 vy g d T 100 = == it o e w9l 9w =99 € 20 IRt -
| o Eifam B T 12 e & e R S 42 T e e |

Tt & A A A 7

Ramkali required T 2500 after 12 weeks to send her daughter to school. She
saved T 100 in the first week and increased her weekly saving by T 20 every
week. Find whether she will be able to send her daughter to school after 12
weeks,

What value is generated in the above situation?

25, U fir #1 o9 3% W 3 w0 R ) AR g st A w AT | 2 i e A = R
e i =1 7m f—gﬁlﬁfﬁﬂmaﬁﬁm

The numerator of a fraction is 3 less than its denominator. If 2 is added to both
the numerator and the denominator, then the sum of the new fraction and original

L
fraction is % Find the original fraction.

26, 2.52 Tt wie o & e & T UF SEATER T § U AeERR o § 1 1 T |
otz FF 5 smam &t feen 40 @9 2w o o § S 9 A 3,15 H = A
2, 1 OTEY =1 SATATE s FiE e |
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Water is flowing at the rate of 2.52 kmvh through a cylindrical pipe into a
cylindrical tank, the radivs of whose base is 40 cm, If the increase in the level
of water in the tank, in half an hour is 3.15 m, find the internal diameter of the

pipe.

27. 3 A(-4, 8), B(-3, —4), C(0, —5) 791 D5, €) T Wa¥™ ABCD % 3 # ot =i
1 4T 7 it |

If A(-4, 8), B(-3, —4), C(0, -5) and D(5, 6) are the vertices of a quadrilateral
ABCD, find its area.

w

28, 6 i =8 A 21 H wen o At g @ o ged @ faeh fird 8 wem e
B W w27 o« 1) W S UF Sga0 S e 2 ) g Taa = T

Hifa | [mzz?—z?—ﬁﬁ'ﬂ;}

A 21 m deep well with diameter 6 m is dug and the earth from digging is evenly
spread to form a platform 27 m *x 11 m. Find the height of the platform.

US&TI:=E:|
| 7
2 miAdsFEIFT IR s wRoed 3 R =T
T T | Mt s i B e T wE w e dem
(i) 3 3wET S A B
(ii) e ol = e @
A bag contains 25 cards numbered from 1 to 25, A card 18 drawn at random from
the bag. Find the probability that the number on the drawn card is :

(1)  divisible by 3 or 5

(ii} a perfect square number
300013 14
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30. ?Mﬁmﬁmhﬂmlﬁﬁﬁﬁmﬁjﬂﬁﬁﬂﬁﬂﬁqﬁﬂﬂﬁ
Sz 2 St B O S g W | W U TR W % e 8 e
et s e i |

Draw a line segment AB of length 7 cm. Taking A as centre, draw a circle of
radius 3 ¢cm and taking B as centre, draw another circle of radius 2 cm. Construct
tangents to each circle from the centre of the other circle.

k) .1:% mﬁm

2 + ? = 2 ',.'l:#l,_—-Ll
x+l x-1 4dx-I 4
Solve forx :
. D NPT |
x+1 x=-1 4x-1 4
3013 15
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